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%_; \ W o FROM THE SEEDLING TO THE FRUITING STAGES
H.PROBLEM 1

If there are root growth problems;

Cause: Ifiitiis.clayey, hard or similar soil;

DRIP IRRIGATION SYSTEM (1000 m?)

A=\ 1 1 O— 1-1,51T SU IR 1) S —
+ +
NOABSES......nrnnrrenrrrrrrrrrrnnns 1T NOABSES....ccccvviensrrrrrnnnienns
+ @ +
18-18-18.rrrris 2-3KG 18-18-18..rrrrcrr 2-3KG
¥
EU FNEN ERG]Yjy7 e, 107

If there is drowning in excessively moist soil and roots;

CALCIUM NITRATE.....ovvccvvrrnene 2-3 KG GLUKOMIX Mn-Fe
: i 2-3 days ¥
CALVIN 2LT FULL ENERGY 7. 1LT
= later +
NOABSES.......veeerirneerisnserisseenns 1LT T18-18-18..c i 3-4 KG
+
PROFER 6 (F€)....cvuurncrruneerinnne 150 GR
PROBLEM 2
If the plant stem is thin and has rapid elongation;
DRIP IRRIGATION SYSTEM (1000 m?) If the plant stem is thick and has rapid elongation;

RATOON 15....ocvvvvuucvrennccrrennee 2,5 KG (D10 272 R 2,5LT (D101 272 2,5LT
+ + +
OrgAPEX-NK.....covevvrurrcrrrnsrrrnrnennns 2LT FOLKAR-K.....vvvvrunrcrrnnccrrannee 21T or FULLBASS 69.......couvcvrmmcrrrvnnrrnnes 1KG
+ + +
FOLKAR-K..covrrrrnecrrrrnnnnnee 2LT UG rerrrmrrerorrrermrreeererrererveees 2 KG 11655 82 e 3 KG

+
0-30-40..c..ccrrrerrrerrnernsenssennanes 2-3KG

FOR PROBLEM 2, APPLICATION FROM TOP
Vegetative period

FOLKARK.........200 cc/100 LT of water FULLBASS 69.200 GR/100 LT of water
+
NIMBUS 52..200-250 GR/100 LT of water °

This mixture should be applied 2 times with 6-7 days intervals

PROBLEM 3
If there is elongation at the flowering stage
(Vegetative development is very fast)
FOR PROBLEM 3, APPLICATION FROM TOP
ZENITH...coccnevrse. 150 €/100 LT of water FOLKAR-K...200-250 cc/100 LT of water FULLBASS 69......200 GR/100 LT of water
or

+ or +
MAXIFORTE.........250 GR/100 LT of water MAXIFORTE...... 250 GR/100 LT of water




FRUITING STAGE

MPROBLEM1 . .

If the fruit turns yellow;
Ca icacid accumulation in roots and fruit stalks due to root drowning and / or insufficiency of root functions,

excessive soil moisture and / or imbalance, sudden change in the weather (temperature and humidity), use of improper
chemicals, etc.

If there is root drowning;
Cause: Overirrigation or high groundwater.

DRIP IRRIGATION SYSTEM (1000 m2)
(. 1Y] | N 2-41T ZENITH.... L2107 ZENITH..... L2107
NOABSES............. S 1-1,51T 2Iatae);s MAXIFORTE 1KG OF  SULPHUR.
PROFER 6. 150 GR 18-18-18..... -4 KG 18-18-18..

If there is a sudden change in air humidity;

ZENITH.oeereevreerresssssssssssenses 2LT
+

NOABSES.....ccmmmsssissssssnessinnns 1T

18-18-18.uuerrrrenerrrrrranenns 4-5 KG

FOR PROBLEM 1, APPLICATION FROM TOP

(@YY |\ 250-300 cc/100 LT of water
+
NOABSES ......ovvverecrrirneririns 200 cc/100 LT of water

This mixture can also be applied after the use of improper chemicals or foliar
fertilizers with inappropriate plant growth regulators.

PROBLEM 2

Retarded fruit growth, lack of homogeneous growth, etc.
DRIP IRRIGATION SYSTEM (1000 m?)

MAXIEND 10-7-17.corvve 4-5KG MAXIEND 10-7-17cvvvvrresvrsssvresensesens 5KG
NOABSES...........T ................ 1-1,5LT Or 16-8-24 N 2KG
FULL ENERGY 7+ ....................... 107 ULTRA K30 N 1-2LT
({6152 Ne—— + ...................... 3 KG

FOR PROBLEM 2, APPLICATION FROM TOP

MAXIFORTE....... 250 GR/100 LT of water
+
ULTRA-K40.............. 200 CC/100 LT of water

This mixture should be applied 2 times with 6-7 days intervals



PROBLEM 3
If there is a large number of fruits on the plant and vegetative development is poor;
DRIP IRRIGATION SYSTEM (1000 m?)

20-10-20 Veya 20-20-20..........c....: 4-6 KG 20-10-20 3 KG
+ +

B (1NN E R Gl e —— 1L L R e _—————— 5 KG
+ @r +

NOABSES 11T NOABSES 1T
+ +

PROMAX COMBI.covevrrerrrrene 200-250 GR PROMAX COMBI..vvrrrvvreee 200-250 GR

FOR PROBLEM 3, APPLICATION FROM TOP
FULL ENERGY 7 ...200 cc/100 LT of water
NiMBUS 52..,.J.r. .............. 200 GR/100 LT of water
PROMAX COI_'V—IBI ........... 100 GR/100 LT of water

This mixture should be applied 2 times with 6-7 days intervals

PROBLEM 4

If there is a risk of fruit cracking;
1st Cause: If a sudden change in soil moisture and / or overirrigation;

DRIP IRRIGATION SYSTEM (1000 m?)
CALVIN. 3-41T

NOABSES.
(1[G S] [ S ————— 4-5 KG

2nd Cause: If a sudden change in air humidity;
DRIP IRRIGATION SYSTEM (1000 m?)

ZENITH.oveeeeeeereeseensessessseenes 20T
+
NOABSES........ommrrirrrnnnns 1-1,5LT
+
[1/S21|S 1[ € T——— 4-5 KG

FOR PROBLEM 4, APPLICATION FROM TOP

1 st Cause:

CALVIN..oovreesesrrrreseesssinnns 250-300 cc/100 LT of water
+

NOABSES........ccorevrrneririesrenns 200 cc/100 LT of water

2nd Cause:

4 =] T 150 cc/100 LT of water
+

NOABSES........coomevrrnnerrricrnnns 200 cc/100 LT of water

This mixture should be applied 2 times with 5 days intervals




